FAXF ZolipzA (&)
Q) o#s %L

(%5 1 2
2%T (1 12 21 22
S w1 n2 1zt 122 20 22 220 222

N22743 Ta= 2Taq +2% L 10" 4 2% 2010% < 2Ty +3- 20 gl
2 e
“2['& gm't ‘riloTU ;}ﬁtn @2 tasta+slo"!

-1
s taedot TRz 2 g 206 g
Tt = e+ 2102 _
e T,m/z DA N0 e To=0 M=leBBe Tis UJ;;_‘): 3
g . ’
+ K-t + 300 _ N
E“’“’! Z et 3 ‘OTL‘l do=1{_ JQ_E-I 1:72 (D"J— 71 O ( 0\2 t¢ 2
ta= 2(+10+ 40 )- 0] -

(2) o#35 o
[ 443 | 2
2443 lo 2

S

20 21 22

loo ol 102 {0 11 p2 120 121 (22 200 201 202 200 21 212 220 22| 223
MN22 el Sn=36n+ 3™ |l 3 o 100 2 3G, 430 !
Sno S $n

= 511-1“0 SRESNAS S S tigh!
- Sy 0+] - .
oS SR G -
S Oranz Neob93e Go=0 Ml A $=19= 3
+1 %% T L2@r neo, ) 02t
— : A
Smos 4 1o+ ¢ 10" ",’0‘"'! = = ;,—'
S RaLEL G Bye 3V sy
= 5 Zn{%QFT) ( )
<'n_“)(pu§log‘zpo 102) %ﬂo;/&*r ‘0’3'9{\2: fn ,g 93}03‘*" pu,ﬁla nz wl‘m +2 \() t *l#vkl\
: «91-3 [310 , [J.Ivg !ﬁlu
47
O477-0.302< g3~ higi0 2< 0473-0.301  0.175< By03~£g1s2< 0117 <ise
[ [ [ [voo [ looo %
L, o icha 290 -3
oy S %103—?3,,2< 0173 (7 < W < )

§é<&00 looy

5.6

! ! 177 ooe
7, g A8 F1 SUL oy U<—L _ioeny 253

p@lox‘l;m ﬁ@lng—p / /S O

. 1062
S U TN 3%

5.7
175 Mooo

looo

_375
/1250
122¢

26



